

SRI VASAVI INSTITUTE OF ENGINEERING & TECHNOLOGY



(Approved by AICTE, New Delhi & Affiliated to JNTU Kakinada),(An ISO 9001:2015 Certified Institute) Nandamuru, Pedana Mandal, Krishna Dist – 521 369

National Service Scheme (NSS) Cell

Empowering Minds

18/10/22 Date:

Proposal Letter

To The Principal **SVIET** Nandamuru

SUB: Proposal to conduct NSS Event.

Sir,

to

I request you to kindly permit us to conduct Clean India from 19/10/22 on behalf of NSS Cell.

Thanking you.

Yours faithfully,

NSS Programme Officer

කුෂිయ సేవా పథకం **රාාතිස් බිට. 90214606**



SRI VASAVI INSTITUTE OF ENGINEERING & TECHNOLOGY

Empowering Minds

Nandamuru, Pedana Mandal, Krishna Dist – 521 369 National Service Scheme (NSS) Cell



18-10-2022

CIRCULAR

All the students & Staff members are here by informed that the **NSS Unit of SVIET** is going to organize the **Clean India Program** on 19-10-2022..All are informed to participate in the program.

Copy to:

- Chairman, Secretary, Correspondent,
- Executive Directors,
 All HoD's (CSE/ECE/EEE/CIVIL/MECH/S&H/CSS)
 Student Notice Board, Main Notice Board, Circular file

National Service Scheme (NSS) Cell Unit No. 90214606

17.10.2022

To The Principal, Sri Vasavi Institute of Engineering & Technology, Nandamuru, Respected Sir,

Subject: Request for conducting Clean India Program - Reg.

I would like to bring to your kind notice that NSS is planning to conduct **Clean India Program** at the College Campus and adopted village Chinna Nandamuru on 19th October 2022 from 10.00A.M to 12.30A.N. Hence Lrequest you to approve the budget amount for conducting the above said programme.

Proposed Budget

The following are the requirements and the estimated budget

Sł. No.	Item	Unit Co (Rs.)	st	Quantity	Total Cost
1	Flexi Banner		300	1	300
2	Green Dustbins	- 4	100	12	1200
3	Waste collection Bags		50	20	1000
4	Glouses	11	20	30	600
5	Masks		10	30	300
6	Refreshments	Rathi	20	30	600
	Total Cost				4000
* * **		Both	20	30	600

The estimated expenditure is Rs. 4000/-(Rupees Four Thousand Only)

Thanking You Sir,

The above budget may please be sanctioned. Awaiting your approval

Forwarded to ED his

Power for word of alle

Or look to the former

Yours Sincerely,

N. Anil Kumar

NSS Program Officer



SRI VASAVI





(Approved by AICTE, New Delhi & Affiliated to JNTUK Kakingda) Accordited by NBA (MECH, ECE & CSE) & NAAC with 'A' Grade Nandamuru, Pedana Mandal, Krishna Dist - 521 369.





CLEAN INDIA

19º October 2020

PEOPLE CLEANING INDIA TOGETHER





Organized by

National Service Scheme (NSS) Cell Unit No. 90214606

Nandamuru, Date:18-10-22.

A REPORT ON CLEAN INDIA PROGRAMME

CLEAN INDIA PROGRAMME is organized in the college of SVIET campus. On 18-10-22 from 10:00AM. The day is all about cleaning our college surroundings by interested management and students.

It was launched to promote cleanliness in society. Till now, it has successfully covered 4041 cities across India. It is one of the important campaigns launched by the Government of India. The ultimate objective is to maintain a healthy and clean environment. Regularly cleaning and maintaining a workplace keeps everything in order, troubleshoots in case of malfunctions, and reduces the risk of unforeseen hazards. The organization can prevent costly breakdowns and repairs by staying on top of maintenance and cleaning tasks.



Coordinator

NSS Programme Officer ຂາອິయ ຈິລາ ລັດຮຽ ໝາຄູ່ເຮັ້ నెం. 90214606

CLEAN INDIA PROGRAM ON 19-10-2022





SRI VASAVI INSTITUTE OF ENGINEERING & TECHNOLOGY

(Approved by AICTE, New Delhi & Affiliated to JNTUK Kakinada), (An ISO 9001:2015 Certified Institute)
Nandamuru, Pedana Mandal, Krishna Dist -- 521-369



Dt: 19/10/22

Event: Clean Zudia Program

S.No.	. Regd No.	Name of the Student	Signature of the Student
1	21HQ180406	Gi Prosanna Angana	G. Prasanna pagana
2	21 M Q1A 2112	P. Mahath?	Mahath i
3	21HQ (A 4)	M. Bhayani	Bhavanr
4	2INQ IAUDS	11 Vote med Aistor 1	Harshitha
5	SOMQIAOYDI	The state of the s	A.V.Peber
6	20mQIA0419	p. sivaduga	P. Sla Dust
7	20mQtA0411	k.lakshmi Harika	t. C. Harles
8	20mQ1A0423	7. Tejaswi	T. Repani
9	20MQ(AQ407	n. Dedeepya	T. Tepani D. Dedeepya
10	20 m@1A0512	J-Sai Durga	J- Sai Durga
11	almorros 94	9	4.supraja
12	2006/104208		Ptasanna.
13	POS CHEMOS	B Jaran !	Janani
14	1212 maj	K. Sweshitfox	sweshitha.
15	20 mg/Aauy	P Sulya	Salya
16	20malaosto	stvani . K	Sivani
17	almqhosi3	G. Teja	Teja
18	201001A0586	-A. Dee nesh	Deenesh
19	almai-Aos22	P. Sai Sneeja	Sueeja
20	21m0H0512	k.padmavati	padhamathi
21	SOWEHOR 2801	Rahed	Ratul.
22	emasa 305	I. vamsi	Vamsi
23	21m0F0512	B. Phaninclaice	phanindala.
24	2 m QH0538	et. Harinadh.	-Harinach
25	PZZOALONIC	v. Siva Kamth.	Sivakanth.
26	20M0140301	A-chandhini	Achandhim
27	20Malay02	A. Usha Rani	A-Usha Rani-
28			
29			

A Espensoral Mone

SRI VASAVI INSTITUTE OF ENGINEERING & TECHNOLOGY

Feedback

Event Name: Cleur Zudia Projean Date(s): 19/10/22

4- Excellent

3-Good

2-Average

1-Poor

SI. No.	Question	Excellent	Good	Average	Poor
1	Is the Programme /Event Conducted Well	V			
2	How did you find the facilities	V		ù	2
3	How did you find the catering And Food		√		
4	How would you rate the activities during the program	100	1		
5	How would you rate your experience with our staff		·	S	4
6	Overall how would you rate our campsite presentation			B	



SRI VASAVI INSTITUTE OF ENGINEERING & TECHNOLOGY

Event Name:

4- Excellent

Date(s):

Clean India

3-Good

55 J

2-Average

Feedback

1-Poor

Sl. No.	Question	Excellent	Good	Average	Poor
. 1	Is the Programme/Event Conducted Well				
2	How did you find the facilities				
3	How did you find the catering And Food			G G	
4	How would you rate the activities during the program	✓		f. *	-
5	How would you rate your experience with our staff		\searrow		
6 -	Overall how would you rate our campsite presentation	1.0	/	_	